4 .

HNO,

HNO,

Al
Cu
R2e”

HNO,

Cu+4HNO;=Cu (NOs) o+ 2NO0, 1 +2H:0

H2e

:Cu-2e =Cu’" Al

o

Cu
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226541
NO; NO, NO; +2e —
NO, N.O
(2NO; +
4H"=—=2NO0, 1 +2H,0,
2 _
5 mol/L.  NaOH
NaOH
:2A1 + 6H,0
=—=2AI( OH), +3H, T 2Al + 2NaOH +
2H,0 ==2NaAlO, +3H, 1 Al NaOH
Al H,0
NaOH
K6e”

f36e”

\
2A1+2NaOH+6H.0=2NaA10,+3H. 1 +4H:0

> () pH — a a
2 pH 2-~3
pH
AP” Co*"
5.2~7.6 CoCl, NaCl
N CoCl, * 6H,0
CoCl,
pH 2-~3 CoCl, o
1(1)5.2 ~7.6;(2) CoCl,
18.

3
Fe' ™ .

12014 - 05 -22)
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Al
AlO; .
:2Al - 6e” +80H ==2Al0; +4H,0;
:6H,0 +6e ==3H, T +60H .
3
KOH

12C,H, +70, +
8KOH ==4K, CO, + 10H,0( K,CO,
KHCO,) -

28e”

ZMZ+8KOH:4K2C03+ 10H:0
0, ; C,Hy
COo:~
2C,H, -28e ™ —CO:~ .
:2C,H, —28e” +360H —=4CO0:"
+24H,0.
170, +28¢” +14H,0 —=80H .
4
. Li,CO, Na,CO,
(0] 0,
Co, 650°C

de_
2C0 + 0. ==2C0,
CO 12C0 -
4e”—2C0,
12C0 —de” +2C07 —=4C0,
10, +2C0, +4e” 2007,

~

5 0.4 mol CuSO,
1L
0.3 mol Cu

0.4 mol NaCl

( ) o
A5.6L B.672L C.1.34L D.11.2L

«43 .
Cu’” Cu; H*
H, CCu’t o+ 2e” Cu; 2H"
+2e” H, T, Cl- Cl,
OH" 0, :2C1°

-2¢ =—=Cl, 1;40H™ -4 =—=2H,0+0, T,
0.3 mol Cu Cu**

H,
0.4 mol Cl° 0.2 mol
OH" 0.2 mol Cl,
0.05 mol O, 5.6 L.
6 Fe rel e
Fe( OH) , 1
(1)
° 1
(2)
A.Na,SO, B.NaCl C.NaOH
(3) o
(4)
Fe Na, S0, « NaCl
NaOH tFe —2e”
Fe** 2H* +2e” H, 1
. Fe + 2H,0 AFe( OH), | +
H 1. NaOH OH"
o Na, SO, NaCl
H*
OH~ o
Fe( OH) ,
Fe( OH) , o
Fe
t40H™ -4e” 2H,0+0, 1
2HY +2¢ =——=H, 1
0, Fe( OH) ,
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44 .
7 2 Cu Pt 1.12 L. O, n( Cu) =0.1 mol
8 g 2 L CuSO, j x64 g/mol=6.4 ¢ n(H') =0.2 mol ¢(H") =
| 5 min 0.1 mol/L.
10 min 5 min ~ 15 min
CuSO, Cu-2e” Cu’* 40H ™ —4e” 2H,0 +
1.12 Lo ? 0,1- pH=1,
(1) 5 min ~ 15 min Cu0:0.1 mol x80 g/mol =8.0 g
o Cu HLR & ()
@ pH=_ ’
) 12
(3) g
_ )& )
(4) 3
° 5 10 15 KA (nin)
(5) .
PbO, + Pb + 2H,S0, ==2PbSO, + 2H,0. 10 min ~ 15 min 6.4 ¢ Cu
0 min ~3 min Pb (Pb 0 min ~5 min 6.4 ¢ Cu Cu**
07 s 1,50, Cu 8¢ 8g-6.4g=1.6 g
— mol. ) 10 min ~ 15 min Cu
o s - 8.0 ¢ 10 min ~ 15 min
— 8.0 ¢g 8.0g+6.4g=14.4 g,
16 4 o
" Pb  PbO,
8 :Pb —2e” +S02” ==PhS0,
1 :PbO, +2e” +4H" +S0; —
PbSO, +2H,0
5 10 15 M min) 0 min ~5 min Cu 0.1 mol
3 Cu Cu®" 0.2 mol
Cu 0 min ~ Pb
5 min : 0.1 mol 20.7 go
(Cu):Cu=-2e" Cu’* H,S0, 0.2 mol,
(Pt):Cu’" +2e” Cu
Pt Cu :
5 min ~ 10 min : 2PbSO, +2H,0 =—=Ph0, +Pb +2H,SO0,
(Pt):Cu-2e” Cu®” :
(Cu):Cu’" +2e” Cu - PhSO, +2e~ Pb +SO;~
10 min . . PhSO, +2H,0 —2e"
10 min ~ 15 min : PbO, +4H* +S02"
(Pt) :40H" —de —=2H,0+0, 1 )
(Cu) :2Cu*" +4e” 2Cu ( 12014 -06 - 10)



